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QUESTION 1

An unprotected chain consists of four NEs: NE1, NE2, NE3, and NE4. An end-to-end VC4 trail NE1--NE4 is created,
and NE5 is added between NE2 and NE3 for capacity expansion. The original configuration remains unchanged, and no
service is configured on NE5. In this case, the unprotected chain becomes NE1-NE2-NE5-NE3-NE4, and how many
VC4 trails can be searched out? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: C 

 

QUESTION 2

When the LCAS function is used/ which of the following overhead bytes are used to transmit control information?
(Multiple Choice) 

A. M1 

B. H4 

C. K2 

D. K4 

Correct Answer: BD 

 

QUESTION 3

In the frame structure of SDH signals, there are abundant overhead bytes used for operation, administration, and
maintenance (OAM). The overhead bytes account for ( ) of all bits in the entire frame and greatly enhance the
monitoring functions of the network. 

A. 1/10 

B. 1/20 

C. 1/30 

D. 1/40 

Correct Answer: B 

 

QUESTION 4
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Which of the following technologies is the main difference between an open DWDM system and an integrated DWDM
system? 

A. Wavelength conversion technology 

B. Optical amplification technology 

C. Multiplexing/Demultiplexing technology 

D. Optical supervisory technology 

Correct Answer: A 

 

QUESTION 5

The SL64 board can be used in an OSN 2500. 

A. TRUE 

B. FALSE 

Correct Answer: B 
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